
E6,
97 -9+ 6 =B

Domain - 54 = )- 9x6class
.

7
- let 54 +3X -y 30

& Domain of the function Ifix M

== bx9 D(X)54 +3x -XI
=> x"- 3X- 54 20 o

- &② f(x)= x3+ 8x g(x)=7x
*
- ne

(X-a) (X- b) =0(x-a) =0

factorie D(X-b)3L
BT = degree deter (Ax(x+ 6) -o =>

XEE6
, 9]

·

To * A

9 (X)0 square40 = -radiens (x-3=0 xE= Eg is Notdefred ((X-a) (X-b) by
a and

bracke

x=Ex= - -
& 20 feet ladder leans against building , angle between ground and ladder .3 72 degree

How height is building?

⑤ fNx)=3 write equation of the graph that results
*

-7

b 2 units to right y :

-

from/-a) shithy s7 unit downward y= 3
X-2

3

-3X
O reflecting about X-axis y

Y

f(x)= 3 fixl= 3
X-2 = sin 72

/ h = Sin7zo · 20 feet

-

-I ---- # = Sin ) · Zofet

!Ext Mi



exponential function fix) = b"
,
b positive constance

when X is positive integer n

fini= bu = by bxbx .... - b
-

U

when X = -n

f(n) = b
+

=T
when x is national number=

f(x)= f(z) = b = (uz)m
what if X is irrational number

b
E 22 = 1 . 414 ...

D
O ↑

· E = 2

: P& 1 . 4 [E 1 . 5S
H2)=b

8 1, 5· OO ↑ f(1.5)= b
1 . 42

+(% 42) = b

1 . 414 1 . 415O +(1. 4147 = b
f(1. 415)= b

have definition decreasing
E

increasing b
↑I* Yi iI

2 and 10 are both / converge
to
value

& 2 unique
here

eX f(x)= 10X
f(x)=

Comun
IR

+10) =20 = / I
Range

: (o ,
+b)



Law of exponent
and b poste number, X, y are real number

D(x+y
= b

% by
y= 3 -24

② b
*

= yX =
b -

by the # -> fJa

③ (bi)9 = 6XY --

① (ab)
Y

= aY . bY

I
tx3

---
-----

- -

. 10 . 7

p(x) =
0x+ 2x9- ....

+ - Domain IR

fix
:·

-
(-p, 3)

e fix= 2Y fxze
*

fix3= 3

f(x)
=
2x

##S

m= 0.JI

I 07 = 11 -
Th#Y 2l =3 Cel-7 1828

....



e
-

-4e
*

+3 = 0
3= x -3

(D)+(-3) =
- 4

a
2 49+ 3 =0

ex =a[(a-1)(a -3)
=0

fixl= bY
a =100 = a =3

le=
or Eee

byo B X= 2n3

logarithm b> 0 x= e= e = be
constant

f(x)= logyX : = Y
X= In b

b =X J
109216 = Y 25 = 16 24 =16 ex=

(lgeb = x

101216
= 4

j

y = 4
32=9 e

"loge-i

109216 /10939 = 2Dx
2

93 = 9
D= 5= 52

< fecta
125 = 53 i =(53)

*
= 5
:

↓
X

-
Fe)= In X= log eX 109yX=8?

25-3X = 10 =
2 Y-3=

1092 (2
*-) = log 4

X=7 In (95
-

34) = In (10)j
=2

(2 DS I

109 e

5-3x= 2n(10) 35 envex- 5 = 2
5-
In(10)



mlogy(x+logbly)
-
b

+

law of Logarithm !
"

↓ logy(xy) = a N

logb (x) logyY)-gy(X
. y) = logyX + log,)D = b - blog b (XY)

J

& logb ( Y) = 10g zX-109by
b = X Y

10% y (Y)
C *

= 38 2 & Go③ logb(X) = Flogbx b
109b (x)

=X b

&
O* = X y

+

(oy(x . y
+) = logy(x) + logo(y

+)
=

(oyp(x) - 109b(Y)

log 280 - 10925

· logya
=E

en(X) = x) + en)

= 2(n(x) + (n)( )
=)

= 2(u(x)+ [(n(x()



when

fix =b constance
funnies-is not

14

fl·f= x
~ f

:⑧
I

0-o
St f(x)= Y

& YeRanget
--

E

&- f"(2)= f 6)=3B
f + c)= 0-



Let f be 1-1 function domainA and Range B.

f "inverse function has domain B and Range A

f + (y)= X (= f(x)= y

f : x ++ y fut #
Domain

f : y mX ·
7

A B different IR-10)

I D I
Domain

IR= "
f

-

f (f(x) =X S
·

(9 , b)

f(x)

+(a) -bI~[f(f+(y)) =y------ f : al+ b

X70 y=Y 8 :b a

f) b) = a

- (x+ 1) adding 1 after X locate at% Ex =r
A

coordinate (b ,a)

graph of +

↓

y= 1+x = ) moving life

x
XI->Et &

z
=/

f
+

(y)= - 1 -y-> fx)=+
-x T

=



fix=bY (X)
= logbY
f

+

F
x +b= y yab

fixt= b it is a H function

fi (l) = logbY = X
X we are looking for

is the number satisfy

KEY
/(a . b) = 2n(a) + en(b)

logSe
(n (a)+ & (n(b)

= en(a) + en(t)
en = In (a-)
inverse of trig function

X
fWsMx let - EX

-
IF=iY

f(x) = sinx Xet-, E]

this moment fix) exist Sin (x)

= arcSinix)

arcsin(17 =E

aresin(E) =0x
angle satiymo

+2π
will

Sm(0)= Sm() =

let
work:



-

larcsin(5) =0 Sit since Cars
I

roby on to, iT]

DomainFRange = E ,
1]

-

-I Tant(x)

-DomainIR

-- Kange (E)
-

end point ismoeaded
Domain (-E,) Range IR

same for -



e
. g simply the express Konteaix) costant

= Cost

I to
-tan 1 +Xi

I

sin(as) =
O E To , TCT

sin()=
F

=O
- E tant()=

tanco) = 5tant

cro I
I I

#F


